18.2

Using Ksp in Calculations
The Common lon Effect

The Common Ion Effect

Insoluble Salt

® PbCI,
< AgCl
o CaF,
O PbCroO,

Solubility:

Precipitate:

- Common lon: CI

See Chuss W Sike

Soluble Salt

I'al]
i ® NaCl
; - . < KCI
= < NaNO;
0.01g 4 \ < Pb(NO;).
4.50 g/L [Na*] =
0.00g [CI] =
Equation: PbCl.(s) —— Pb“**(aq) + 2 Cl(aq)
Initial Concentration (M) 0.00 M 0.00 M
Change on proceeding to equilibrium +x +2%
Equilibrium concentration (M) x 2%

Solubility = x = 1.62 x 107 mol/L



18.2 Using Ksp in Calculations
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18.2 Using Ksp in Calculations

The Common lon Effect

a) What s the solubility of BaSO,(s) in pure water? Ksp =1.1x10-10@ 25°C
b) What is the solubility of BaSO,(s) in 0.1M Na,S0O,?
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18.4 Simultaneous Equilibria

Solubility and pH- Remember me - Le Chatelier’s Principle
HCNis a weak acid -

- HCN(aq) + H,0(l) < H30+ + CN- Kc=4.0x10-19@ 25°C
Addition of OH- to this equilibrium will cause the [CN] to

#- a) Increase v c)

Remain unchanged 7 . »
b) Decrease d)

Impossible to determine
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18.4
Solubility and pH
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191 Entropy _
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19.1 Entropy

Spontaneous Process V Nonspontaneous Process

Butane Burner
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19.1 Entropy

Enthalpy a Measure of Spontaneity?

Nonspontaneous
2 Hy0(1) =2 Hy(g) +0,(g)
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